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Introduction


A unique election


As 2015 dawned it was clear that the general election scheduled for 7 May was going to be possibly the most significant, certainly the most interesting, in modern times. It was to be a different kind of election for a number of reasons:





•  The date of the election was known well in advance. This was the result of the passage of the Fixed Term Parliaments Act of 2011. In the past, when the election date was determined by the prime minister and was therefore uncertain, campaigns were short and it was difficult for parties to plan for them. Once it became clear that the coalition government was going to survive, everyone could put the date 7 May firmly in their diaries. The result of this was twofold. First, the campaign was longer than ever before. In practice, 1 January was the unofficial starting point, just over 4 months before election day. Second, it meant that the government was able to plan its later policies with the election in mind.



•  It was to be a five-party election. The 2010 election was effectively contested by three parties, four in Scotland and Wales. Although the ultra-right British National Party (BNP), UK Independence Party (UKIP) and the Green Party, as well as several smaller ones, put up candidates for election in many places, they were never going to make a significant impact, either in terms of seats won (The Green Party won one and Respect Party another), or in terms of the votes they could win. In other words, small parties did not substantially influence the result. The 2015 election was to be different. Now five parties were to have a significant influence on the result.



•  It was to be the election that broke the two-party system. On the face of it 2010 had done that, but there were important differences between 2010 and 2015. The 2010 election produced an indecisive result because the two main parties were closely matched. This had also occurred in February 1974, but it did not break the dominance of the two parties. The 2015 election, on the other hand, produced its result because of the partial fragmentation of the party system, because UKIP, the Scottish National Party (SNP) and even the Green Party were significant factors, each enjoying considerable popular support.



•  This election shared one characteristic with elections in the USA. It was, to some extent, a ‘pork barrel’ election. British general elections were fought in the past on the basis that each of the main parties sought to secure its own core support and then to ‘steal’ some of the middle ground of ‘floating voters’, the minority who regularly switch party allegiance. These certainties had gone. Core support could no longer be relied upon — former Labour and Conservative (as well as Liberal Democrat) supporters were moving in large numbers to support the SNP in Scotland, UKIP and the Greens in England. The response of the main parties was to offer incentives to various sections of society to support them. Americans call this ‘pork barrel politics’ — an allusion to the way in which sailors were fed on board ship. The favoured received a larger share of the rations from the salt pork barrel. The parties therefore offered favourable policies to such important groups as pensioners (generous high interest savings schemes and freer options on private pensions, both granted by the government), students (Labour promised to reduce tuition fees), school leavers (more apprenticeship opportunities), poorer regions (infrastructure projects such as High Speed 2 to Birmingham and Manchester to boost employment and industry), and the Scots (promises of greater autonomy).



•  All three main party leaders were relatively unpopular personally. David Cameron was seen as too close to the rich and privileged, Ed Miliband lacked charisma and authority, Nick Clegg was accused of breaking promises. The more popular leaders could all be described as ‘fringe politicians’. Nicola Sturgeon and Alex Salmond in Scotland, Boris Johnson, London mayor and aspirant MP, and Nigel Farage were all more popular (though opinion about Farage was very mixed).



•  The debate about the desirability of the electoral system remained unresolved. On the one hand, the result produced a majority government, a quality that is always cited as the strongest characteristic of the first-past-the-post system (FPTP). On the other, it threw up two major anomalies. One was the hugely exaggerated representation of the SNP in Parliament. The other was the gross discrimination against UKIP, which won 12.6% of the vote but only one seat. Even the Liberal Democrat Party has never suffered such discrimination.



•  Rarely, if ever, has an election campaign been so dominated by the opinion polls, which consistently suggested a dead heat between the two main parties and a hung parliament. This meant that much of the campaign centred around the various permutations for a coalition or minority government, as well as a good deal of negative campaigning concerning the dangers of indecisive government or excessive influence from the SNP. Rarely, too, have the polls been so wrong — this made the results both dramatic and surprising.



•  The strong showing by the SNP demonstrated that the referendum of 2014 did not end the debate about Scottish independence. Indeed some have claimed that the election will come to mark the beginning of the disintegration of the United Kingdom.







Chapter 1


The result


The overall result


The overall result of the 2015 general election is given in Table 1.1. In some ways this was a conventional result, i.e. typical of results before 2010. It was conventional in that:





•  A majority government was elected.



•  The new government won with a minority of the popular vote — about 37%.



•  The gap between the governing party and the next party, Labour, was exaggerated by the electoral system.



•  A party with concentrated support — the SNP — did well out of the FPTP system.



•  Smaller parties were discriminated against — mainly UKIP, but also the Greens and the Liberal Democrats.



•  The election result in Wales once again demonstrated the weakness of nationalist feeling in that country, as Plaid Cymru failed to make progress.





But it was also an unusual election in that:





•  FPTP historically has usually produced decisive government majorities (1979, 1983, 1987, 1997, 2001, 2005). This election did not and has been likened to 1992 (also a surprise result), when John Major led a Conservative government with a starting majority of 21. Major encountered great difficulties as a result of his narrow majority. David Cameron’s majority is even smaller, leaving him relatively more vulnerable to internal party disputes.



•  One part of the country — Scotland — produced a result which was completely at odds with the rest of the UK. This immediately precipitated a constitutional crisis.



•  One party — UKIP — was excessively discriminated against, possibly more so than any party in UK history. Though UKIP may well have been mortally wounded by the result, as well as by the subsequent conflict within its leadership, it has again thrown into focus the iniquities of FPTP and may reignite the electoral reform debate. Even the SNP, which benefited enormously from FPTP, retains its support for the introduction of proportional representation for general elections.





So, the outcome is a majority Conservative government, the first such government since 1992 — a government with a clear mandate and the prospect of governing alone for 5 years. But it is also a fragile government, with a slender majority, a dissident faction of right-wingers in its own ranks and several difficult pieces of legislation, negotiations to undertake and decisions to make.
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The result in the national regions


England
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From Table 1.2 we can see that the Conservative Party won more clearly in England than in the UK as a whole. This is normally the case, as Labour has, in the past, tended to dominate Wales and Scotland. What is especially noteworthy here is that, on issues that only affect England, if the MPs representing Scotland, Wales and Northern Ireland were to withdraw from voting in Parliament, the Conservative government would have a very comfortable majority, amounting to 105 seats. So, if the supporters of ‘English Votes for English Laws’ (EVEL) get their way, the government will be very comfortable on English issues.


The other interesting feature is that England after 2015 is very much a two-party system, at least as far as parliamentary seats is concerned. The smaller parties only mustered 8 out of 533 seats between them. If, on the other hand we look at votes instead of seats, we could say that England is now a five-party system.


The Conservative Party did slightly better than Labour since 2010, adding 21 seats to its tally, while Labour added only 15. However, in terms of votes, Labour did rather better than the Conservatives. Of course, the biggest loser was the Liberal Democrat Party, which lost most of its seats in England.


Scotland
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What happened in Scotland in the 2015 election was one of the most dramatic events in modern British political history (Table 1.3). Its repercussions threaten to be seismic. Never before in UK history has a political party made such rapid progress in one election, going from winning just 6 seats in 2010 to 56 in 2015. Furthermore, the SNP became the first party to win over 50% of the popular vote among its own electorate in a major election.


The outcome represented a crisis of legitimacy. Could a Conservative government lay any claim to governing Scotland when it won only one seat in the whole country, and only about 15% of the popular vote there? In addition, the result demonstrated the depth of feeling in Scotland for greater autonomy. The SNP has refused to claim it was a vote for full independence, especially as, less than 12 months before, such a change had been rejected by the electorate. In September 2014, 45% of the Scottish voters supported full independence, so, assuming all these voted for the SNP in May, the party only gathered a further 5% in the general election. Nevertheless, the vote was a clear indication that most Scots feel unhappy with the performance of London-based government, especially the coalition.


The crisis is not only constitutional. It is also political. For Labour, which lost 40 of its Scottish seats and several leading members of the party with them, it was clear that the more radical, left-of-centre policies of the SNP were more popular than Labour’s (and indeed the Liberal Democrats’) more moderate stance on economic and social issues. In the future, therefore, Labour has a major problem regaining its dominance in the country. If it were to adopt the more radical policies the Scots seem to demand, it would lose further support in England. In other words, it appears that Labour may have lost Scotland for a generation. As Labour relies on winning 40 or so Scottish seats to win national elections, it will find it difficult to win any general election in the foreseeable future.


Wales
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It was very much ‘business as usual’ in Wales (Table 1.4). The Conservatives gained a few seats and Labour lost one, but the political map of Wales remains largely unchanged, especially as Plaid Cymru failed to make a breakthrough on the back of the rise of nationalism in Scotland. UKIP won 13.6% of the vote but no seats, another major anomaly of the FPTP system.


Northern Ireland
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Northern Ireland has its own, particular political system (Table 1.5). The main parties do not compete and many of the issues are regional rather than national. The main interest lay in how many seats the Democratic Unionist Party (DUP) would win. With the overall result promising to be tight, the DUP harboured hopes that it would hold the balance of power in Westminster. This would have given it a great deal of leverage over a minority Conservative administration. In the event, of course, this did not happen so the result was largely of regional interest.


The turnout was lower in Northern Ireland than anywhere else in the UK. General elections mean less there than do elections to the Northern Ireland Assembly so this was hardly surprising. The moderate Ulster Unionists gained 2 seats out of a total of 18, which was of some local significance, but once again in 2015, Northern Ireland politics remained something of a sideshow.


The result in the English regions


The general election result in the regions of England is given in Table 1.6.
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London


The results in London are especially interesting. Had they been replicated throughout England, Labour would have won the election comfortably. We have to ask, therefore, why is London different?


The first conclusion is that UKIP was only a minor factor in London. Furthermore, insofar as it takes votes from other parties it tends adversely to affect the Conservatives more than Labour. However, it also appears that the drift away from the Liberal Democrats also favoured Labour more in London than it did in the rest of England.


Labour traditionally does well in London, but on this occasion the capital completely bucked the national trend. More research is needed to explain this, but it is certainly true that the Labour Party needs to study why it did so well in London to provide answers to the many questions it faces.


The North


The North of England remains solidly Labour. UKIP made considerable inroads in terms of votes but won no seats, the Conservatives made little or no progress either in votes or seats. If we consider the three northern regions together, i.e. the North East, North West, and Yorkshire and Humber, we find the following outcome in terms of seats won by the parties:






	




•  Labour





	110






	




•  Conservatives





	44






	




•  Liberal Democrats





	2






	




•  Others





	0







The Conservatives gained just one seat in the whole northern region and won almost the same proportion of votes as in 2010. However, it should be noted that the Labour Party had hoped to win back a number of seats in the North West area and yet failed to do so, possibly because much of its potential gain in popularity was wiped out by the votes cast for UKIP. In other words, it seems that UKIP support hurt Labour in the North more than it did the Conservatives.


We will examine below the nature of the North–South divide in party support that exists in England and which was further emphasised in this election.


The Midlands


In the two Midlands regions — East and West — considered here, the picture is more evenly divided between the two main parties than in the North or the South. The figures show this in terms of seats won:






	




•  Conservative





	66






	




•  Labour





	39






	




•  Others





	0







Once again, however, Labour’s failure to win back seats in constituencies where it has traditionally done well contributed greatly to its overall defeat.


The East


The East of England has always been staunchly Conservative and 2015 was no exception. Labour actually gained a couple of seats but still made little impact. The most interesting feature here was the strong showing by UKIP (there are many migrant workers from Europe in the region). UKIP won 16.2% of the popular vote, but just one seat — its only seat in the whole election, retained by Douglas Carswell, who defected from the Conservative Party in 2014 and then won a by-election in Clacton.


The South East (not London)
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Party Seatswon | Changesince |  %vote | Change since
2010 2010
East of England
Conservative 52 0 49.0 +1.9
Labour 4 +2 22.0 +2.4
Liberal Democrat 1 -3 8.2 -16.8
UKIP 1 +1 16.2 +12.0
Green o 0 3.9 +2.5
Others. o 0 0.5 -2.9
South East England (not London)
Conservative 78 +4 50.8 +15
Labour 4 0 18.3 +21
Liberal Democrat o -4 9.4 -16.8
UKIP o 0 14.7 +10.6
Green 1 0 5.2 +3.7
Others. o 0 15 =11
South West England
Conservative 51 +15 46.5 +3.7
Labour 4 0 177 +2.3
Liberal Democrat o -15 5.1 -19.6
UKIP o 0 13.6 +9.1
Green o 0 5.9 +4.8
Others. o 0 1.2 -0.3
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Iable 1.6 The general election resuit in the regions of England

Party ‘ Seats won ‘ Change since % vote ‘ Change since
2010 2010
London
Conservative 27 -1 34.9 +0.4
Labour 45 +7 437 +7.1
Liberal Democrat 1 -6 77 -14.4
UKIP 0 0 8.1 +6.4
Green 0 0 4.9 +3.3
Others 0 0 0.8 =27





OEBPS/OEBPS/images/6-1.jpg
Party Seatswon | Changesince | %vote | Change since
2010 2010
North East England
Conservative 3 +1 26.3 +1.6
Labour 26 +1 46.9 +3.3
Liberal Democrat 0 -2 6.5 =171
UKIP 0 o 16.7 +14.0
Green 0 o 3.6 +3.3
Others 0 o 0.9 -6.2
North West England
Conservative 22 o 31.2 -0.5
Labour 51 +4 44.6 +6.2
Liberal Democrat 2 -4 6.5 =151
UKIP 0 o 13.6 +10.5
Green o o 3.2 +2.7
Others. o o 0.7 -2.8
East Midlands
Conservative 32 +1 43.4 +2.3
Labour 14 -1 31.6 -1.9
Liberal Democrat o o 5.6 -16.3
UKIP o o 16.8 +12.6
Green o o 3.0 +2.4
Other o o 0.6 -3.9
West Midlands
Conservative 34 +1 41.8 +2.2
Labour 25 +1 32.9 +2.3
Liberal Democrat o -2 5.5 -14.9
UKIP o o 16.7 +11.7
Green o o 3.3 +2.7
Others o o 0.8 -4.0
Yorkshire and Humber
Conservative 19 o 326 -0.2
Labour 33 +1 39.1 +4.8
Liberal Democrat 2 -1 74 -16.8
UKIP o 16.0 +13.2
Green o 35 +2.7
Others o 1.6 -4.6
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1able 1.5 The general election resuit in Northern lrelana

Party

Democratic Unionist
Sinn Fein

SDLP

Ulster Unionist
Alliance

Others

Turnout

Seats
won

on w A ®

58.1%

% seats
won

44.4
22.2
16.7
11
0.0
5.6

Change in
seats won
since 2010

0
-1
0
+2
-1
0

%
vote

257
245
13.9
16.0

8.6
1.3

Change
in % vote
since 2010

+0.7
-1.0
-2.6
+0.8
42.2
-0
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1able 1.4 The general election resuit in Wales

Party Seats | %seats | Changein | %vote | Change

‘won won seats won in % vote

since 2010 since 2010

Labour 25 62.5 -1 36.9 +0.6
Conservative n 275 +3 27.2 +1.1
Plaid Cymru 3 75 0 121 +0.9
Liberal Democrat 1 25 -2 6.5 -13.6
UKIP o 0.0 0 13.6 +11.2
Green Party o 0.0 0 2.6 +21
Other o 0.0 0 11 o
Turnout 65.6%
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ITable 1.2 The general election result: England only

Party Seats | %seats | Changein | %vote Change

‘won ‘won seats won in % vote

since 2010 since 2010

Conservative 319 59.8 +21 41.0 +1.4
Labour 206 38.6 +15 31.6 +3.5
Liberal Democrat 6 11 =37 8.2 -16.0
UKIP 1 0.1 +1 141 +10.6
Green Party 1 0.1 o 4.2 +3.2
Others. o 0.0 Ehid 5 +0.9%
Turnout 65.9%

*Some errors due to rounding

**This seat was lost by George Galloway and the Respect Party to Labour. However, this result
is now challenged and being investigated.
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Party

SNP
Labour
Conservative

Liberal
Democrat

UKIP
Green Party
Other

Turnout

1able 1.3 The general election result in Scotland

Seats won

56

% seats
won

94.9
1.7
7
1.7

Change in
seats won
since 2010

+50
-40

0
-10

% vote

50.0
243
14.9

75

1.6
13
0.4

Change
in % vote
since 2010

+30.0
-17.7

-18
-1.3

+0.9
+0.7
0.0





OEBPS/OEBPS/images/2-1.jpg
Table 1.1 Overall resuit of the general election held on 7 May 2015

Party Seats | %seats | Changein | %votes | Changein
‘won seats since votes since
2010 2010
Conservative 331 51.0 +24 36.9 +0.8
Labour 232 357 -26 30.4 +1.5
SNP 56 8.6 +50 4.7% +3.1
Liberal Democrat 8 1.2 -49 79 -16.2
Democratic 8 1.2 0 0.6* 0.0
Unionist (NI)
Sinn Fein (NI) 4 0.6 -1 0.6* 0.0
Plaid Cymru 3 0.5 0 0.6* 0.0
SDLP (NI) 3 0.5 0 0.3* 0.0
Ulster Unionist 2 0.3 +2 0.4% 0.0
(NI)
UKIP 1 0.2 +1 12.6 +9.5
Green Party 1 0.2 0 3.8 +2.8
Others. 1 0.0 0 12 -2.5
Total seats 650
Turnout 66.1%

“These parties only put up candidates in their own countries, not in the UK as a whole so their
percentage share appears lower than it was in those countries. For example, the SNP won 50%
of the votes in Scotland.





